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Final Exam Practice
Sequences & Series


For question #1 & 2, find the first four terms of the sequence described:  
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For question #3-6, find the sum of the given series:  
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For question #7-10, find the specific term in the sequence.
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11.  Find the missing terms in the arithmetic sequence:  16, ___, ___, ___, -8
12. Find the missing terms in the geometric sequence: 7, ___, ___, ___, 112
For question #13 & 14, write an explicit equation for the nth term of the sequence.

13.  3, 24, 192, …



14. -13, 1, 15, …
For question #15 & 16, identify where the term falls in the given sequence.

15. Complete the statement: 117 is the 

th term of -33, -31, -29, -27, …
16. Complete the statement: 118,098 is the 

th term of 6, 18, 54, 162, …

17. Find the sum of the first 50 positive multiples of 5.

18. Write a recursive rule for the following sequence: 16, 26, 36, 46, …
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Formulas
an = a1 + (n – 1)d

an = an – 1 + d

Sn = n
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an = a1 ( rn – 1 

an = an – 1 ( r
Sn = a1
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1.  Find the 85th term of the following sequence: 17, 23, 29, 35,…

2. Find the sum of the series if a1=7, d=8, n=22

3.  Find the sum of the series if a1= -2, r=3, n=5

4.  Write out the series given by: 
[image: image15.wmf]å

=

-

4

1

1

)

2

(

5

n

n


5.  What is the 5th term of the sequence given by the recursive rule: a1=15, an=an-1+6 ?

6. Suppose a stadium’s first row has 100 seats and each additional row has 8 more seats.  How many total seats will there be if the stadium has 35 rows?
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